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1. Using the formula A = 7r?, find A when

r=14 cm (take w = 22/7)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lyALqVOKX1XP

° Watch Video Solution

2. Using the formula S = 2(Ib + bh + lh), find

S when [=12cm, b=8cm,and h=4 cm.

o Watch Video Solution

3. Write the formula for finding the
circumference (C) of a circle with radius r

units. What is the subject in this formula?

o Watch Video Solution



https://dl.doubtnut.com/l/_lyALqVOKX1XP
https://dl.doubtnut.com/l/_arLLAU0eufrI
https://dl.doubtnut.com/l/_JLfpbNnDAULw

4. Make h the subject of the formula, where
V=lbh, and find h, when

V = 960cm3, | = 20em, and b=12cm.

o Watch Video Solution

5. In the formula S, = %{2a + (n — 1)d},

make d as the subject.

° Watch Video Solution



https://dl.doubtnut.com/l/_JLfpbNnDAULw
https://dl.doubtnut.com/l/_oirnvmYwvPvt
https://dl.doubtnut.com/l/_mNwTHL3vv1Fb
https://dl.doubtnut.com/l/_pQKHOcC8fAth

6. Find the value of d, when

S, = 240,n = 10, and a = 6.

o Watch Video Solution

7. Make f as the subject of the formula

o Watch Video Solution

8. If u=15 cm and f=6cm, then find v.

o Watch Video Solution



https://dl.doubtnut.com/l/_pQKHOcC8fAth
https://dl.doubtnut.com/l/_V8SODMdB8IyM
https://dl.doubtnut.com/l/_FkGZYMDdHu4o

1 1
9._ = - —l_ -
u v

If f =3cm and v = 4cm, then find w.

o Watch Video Solution

10. Frame the formula Hypotenuse (h) of right
triangle is the square root of sum of the

squares of perpendicular sides a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_NFjtHXwxLq7g
https://dl.doubtnut.com/l/_ZiIwFBM4jY2M

11. The slant height (l) of a cone is the square
root of the sum of the squares of its radius (r)
and its vertical height (h). If for a cone, |=17cm

and r = 15 cm, then find h.

o Watch Video Solution

Test Your Concepts Very Short Answer Type

Questions

1. An equation which is used frequendy to

solve problems is called a formula.


https://dl.doubtnut.com/l/_AdE7BfHk2TD4
https://dl.doubtnut.com/l/_DUgCelZ73fOL

° Watch Video Solution

2. The number of auxiliary formulae which can

be derived from A = s is two.

o Watch Video Solution

3. Directions for questions : State whether the

following statements are true or false.

A
Zisr = —.

Auxiliary formula of A = 7r
™

o Watch Video Solution



https://dl.doubtnut.com/l/_DUgCelZ73fOL
https://dl.doubtnut.com/l/_XpKj9A5sUSkj
https://dl.doubtnut.com/l/_p4hoCocx5nwl

4.1fh? = a®> + b’ thenb = \/h? — &>,

o Watch Video Solution

5. Thirty-six is divided into two parts such that
one of the parts is twice the other. The two

parts are 12 and 24.

o Watch Video Solution



https://dl.doubtnut.com/l/_p4hoCocx5nwl
https://dl.doubtnut.com/l/_NhQu9mqR8tqS
https://dl.doubtnut.com/l/_BXoqMmB8WA0j

6. There are b boys and g girls in a class and
the average of number of boys and the

number of girls is 18. Then b+g=

o Watch Video Solution

7. The number of variable present in RHS of A.

2(Ib + bh + [h) is

° Watch Video Solution



https://dl.doubtnut.com/l/_JqJQGARBvhFz
https://dl.doubtnut.com/l/_HzvZMOQyeXjZ

8. If the cost of two pens is rsx, then the cost

of three pens is

o Watch Video Solution

x mr?, z = 60°, and r=6cm ,

o Watch Video Solution



https://dl.doubtnut.com/l/_5Hw3l6E0n470
https://dl.doubtnut.com/l/_VlM3Ux0B1wwO

10. the formulae obtained by transforming the

subject in the given formula are called

° Watch Video Solution

11. The symbolic form of "total surface area (A)

of a cube is six times the square of its side

° Watch Video Solution



https://dl.doubtnut.com/l/_hpjh7VPPeFZv
https://dl.doubtnut.com/l/_C1p7UJBxj21Q

12. The symbolic form of "area (A) of a

rhombus is half of the product of its diagonals

o Watch Video Solution

13. The symbolic form of "simple interest 1) is
one hundeths of the product principle (I'),

time period(T) in years, and rate of interest

° Watch Video Solution



https://dl.doubtnut.com/l/_fbZFKu9K6lyv
https://dl.doubtnut.com/l/_vbSU1QweeIDA

14. P=S-C, where P is the profit S is the price,

and C is the cost price.

o Watch Video Solution

36
15. P = 77“, where P is the perimeter of the

semi-circular region and r is the radius of the

semicircle.

o Watch Video Solution



https://dl.doubtnut.com/l/_vbSU1QweeIDA
https://dl.doubtnut.com/l/_TZb80DWZw1Z2
https://dl.doubtnut.com/l/_YIgYltZTi3d5
https://dl.doubtnut.com/l/_NVnhAQ1E9j7b

16. The number of aubiliar formulae that can

be divided from § = Co0 Y
e daivide rom = 100 ’I“IS_

A4

B.3

C.2

D. 1

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NVnhAQ1E9j7b

17. If V=Ibh, then b=

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dru29CBYhQTj

18. The symbolic form of "five times b is added

in six times a to get the result " is

A.5b + 6a = c
B.5b — 6a = ¢
C.6b+ 5a = ¢
D.6b — b5a = ¢
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_9KDpJ25VmPhk
https://dl.doubtnut.com/l/_8gdwlUqZOuBC

19. The subject of the formulae ,A = 2h(l + b)
Al
B.b
C.h

D.A

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_8gdwlUqZOuBC

20. A variable standing alone on the left side

of an equation is called

A. The formula

B. The subject of the formula

C. The transposition

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_1kdQknIdkyQT

Test Your Concepts Short Answer Type Questions

1. If V =% and V = 216em?®, then find the

value of s in cm.

o Watch Video Solution

2. In the formula
/P+/Q + ZR + £S5 = 360°, if
/P =100°, ZQ) = 100°, and ZR = 100°,

then find ZS.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_52cBecbf38HF
https://dl.doubtnut.com/l/_fvTG1Tj6iGCk

3.If P = mr 4+ 2r and P=36cm, then find the

value of r (in cm).

o Watch Video Solution

4.1f A = c(a — b), then make 'a' the subject of

the formula.

° Watch Video Solution



https://dl.doubtnut.com/l/_fvTG1Tj6iGCk
https://dl.doubtnut.com/l/_69HwykAbYRCk
https://dl.doubtnut.com/l/_3Sfk9Qb2T2Rq

5.If h = %, h = 5, and V=60cm?, then find

the value of A (incm2).

° Watch Video Solution

6. The sum of the interior angles in a6-sided
figure is 720° and the six angles are x\y,z,2,y,
and x. Express the relation among x,y, and z by

making z as the subject.

o Watch Video Solution



https://dl.doubtnut.com/l/_G73UCBxPt5iT
https://dl.doubtnut.com/l/_obr4yzKsVg8y
https://dl.doubtnut.com/l/_SsfOTPlsDTBJ

7.1f K = a + bc, then make 'c' as the subject of

the formula.

° Watch Video Solution

8. The compound interest on a sum of rsp, for

T years at R% per annum is given by

R T
14+ — — 1| . Make R as the
100

subject of the formula .

| —

o Watch Video Solution



https://dl.doubtnut.com/l/_SsfOTPlsDTBJ
https://dl.doubtnut.com/l/_6kCx6UqzBoPn
https://dl.doubtnut.com/l/_RGeeivH83wuS

9. In the previous question if =662, P=2000,

and T=3, then find the value of R.

o Watch Video Solution

10. Let C denote the temperature of a body in
degree Celsius Let F denote its temperature in

degree Fahrenheit. The realtion between C

and F is given by i _ =32 If F=2.2C
100 180 77

then find the value of C.

° Watch Video Solution



https://dl.doubtnut.com/l/_RGeeivH83wuS
https://dl.doubtnut.com/l/_TmHc3Y0JIGsN

Test Your Concepts Essay Type Questions

1. Write all the possible related auxiliary

formulae from A=m (R2 — rz).

o Watch Video Solution

2. Make g the subject of the formula

1008
C = 1001 g Find g(in % ), when C=rs400
and S=rs450.

o Watch Video Solution



https://dl.doubtnut.com/l/_GVxMlvsj9rpY
https://dl.doubtnut.com/l/_LHPDbmeILwWC

3. Make r the subject of the formula

mr2h , 3
3 Find r, when V=27mcm

h=4cm.

V = and

o Watch Video Solution

4., Make 'a' the subject of the formula

V/'3a?

A= . Finda, when A=64 /3cm?.

o Watch Video Solution



https://dl.doubtnut.com/l/_M3DIDR4QcA9I
https://dl.doubtnut.com/l/_1y1tWdpbaCzJ

b
5. Make y the subject in rrY _ o
x—y a—>b

° Watch Video Solution

6. Frame the formula from the following table.

Make y the subject of the formula.

X 1 25 7 8
Y 1 4 25 49 64

° Watch Video Solution



https://dl.doubtnut.com/l/_FVDg0L7qc0zM
https://dl.doubtnut.com/l/_ahDFbDGwTQRC

7.Frame the formula from the following table.

Make a the subject of the formula.

d 150 14 \ TR

h (s R T 1 5 s L I* &

o Watch Video Solution

8. Frame the formula from the following table.

Make Z the subject of the formula.

]
.}



https://dl.doubtnut.com/l/_cOlJGEohGqkX
https://dl.doubtnut.com/l/_tFzX3wpXcJlI

| ' View Text Solution

1
9.If (x +a)’ =22+ 1+ —, then find a.

4x
1
Aa = —
5%
B g — 1
.a = %
1
C.a = —
3x
1
D.a = —
4
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_tFzX3wpXcJlI
https://dl.doubtnut.com/l/_jcwrlRgsnN4y

10. A number x divided by 10 and 7 is added to
the quotient and then the sum is multiplied by
3 to give the result N. Frame the formula by

making x as the subject.

° Watch Video Solution

nif A = c(a2 -+ b2), then make a the subject

of the formula.

o Watch Video Solution



https://dl.doubtnut.com/l/_tJ5N61NNJYjr
https://dl.doubtnut.com/l/_R92FmTnwdU2v
https://dl.doubtnut.com/l/_sO3OWDEieG8L

12.
Express the relation between a and b with b as

the subject.

o Watch Video Solution

x + b
13. If Y _ ot , then make y the
z c

subject of the formula.

o Watch Video Solution



https://dl.doubtnut.com/l/_sO3OWDEieG8L
https://dl.doubtnut.com/l/_dbqPmJjMj93Z

1
14. If d=ut+ Eatz, u = 20,a = 10, and

d=50t, then find t.

o Watch Video Solution

15. Find the relation between x and y from the

data given in the following table.

F i L) 5
¥ 5 17 26

o Watch Video Solution



https://dl.doubtnut.com/l/_mbNZvWyuXgAI
https://dl.doubtnut.com/l/_OIwAcPjsFuX0

Concept Application Level 1

1. The symbolic form of "the sum of four angles

in a quadrilateral PQRS is 360° s

A/P+/Q+ /R+ /S =180°
B./P+/Q+ /R+ /S = 360°
C./P+/Q+ /R+ /S = 90°

D./P+/Q+ /R+ /S = 100°.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_g5NET2Jneftl

2. The symbolic form of "time taken (O for a

journey is the quotient of distance covered (d)

and average spped (s)" is

d
At = —
S
t
B.d = —
S
S
C. —
d
D.t =d-+ s
Answer: A

I o Watch Video Solution


https://dl.doubtnut.com/l/_g5NET2Jneftl
https://dl.doubtnut.com/l/_4RITJaN9wSqX

3. The symbolic form of "area of a sector (A) is
half of the product length of the are (I) and

radius (r)" is

AA=Ir
B.A=—

[
casl
D.A = ”2”

Answer: C

| e |


https://dl.doubtnut.com/l/_4RITJaN9wSqX
https://dl.doubtnut.com/l/_PkbzGS9Fub8y

& Wwatch Video Solution I

4. The symbolic form of volume (v) of a cube is

cube of its length (s)" is

AV = 3s

S

B.V = —

3

C.V =s

D.V = 3
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PkbzGS9Fub8y
https://dl.doubtnut.com/l/_r3nYYLWiUYKm

5. The symbolic form of "area (A) of a
trapezium is half of the product of distance
between the paralel side (h) and sum of the

lengths of parallel sides (a,b)"is

AA= %(a—kb)

8.4 =+ (a—b)
hab

C.A — T

D. A = hab

Answer: A


https://dl.doubtnut.com/l/_r3nYYLWiUYKm
https://dl.doubtnut.com/l/_31XxWNHmQoB0

° Watch Video Solution

6. The number of auxiliary formulae that can

T
360°

be derived from P =

Al

B.2

C.3

D.4

Answer: B

| 8 l


https://dl.doubtnut.com/l/_31XxWNHmQoB0
https://dl.doubtnut.com/l/_6PUUGNXkpbc2

S
7. IfA — W,then N=__

o
s |

N
n
N

D.S+ A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6PUUGNXkpbc2
https://dl.doubtnut.com/l/_VHjCkKrl70lv
https://dl.doubtnut.com/l/_ZTHMGNLBLI4p

8. The symbolic form of "6 less than twice p is

equal to 3 more than q" is

A2p+6=qg—3

B.6 < 2p

C2p—6=q+3

D.3 > q

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZTHMGNLBLI4p
https://dl.doubtnut.com/l/_sSpkp8dXcAMZ

t2
9. The subject of the folulae, s = ut + UT

is

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sSpkp8dXcAMZ

10. the formulae obtained by transforming the

subject in the given formula are called

A. The subject of the formula

B. The transposition

C. An auxiliary formula

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_dBIaXj5ebbmN
https://dl.doubtnut.com/l/_KnUOnEpB4uXo

11. The cost price C is given by the formula C=

100s
100 + g

%. Make S the subject of the formula . Find S, if

, where S=selling price and g=gain in

C = rs800 and g=20. The following steps are
involved in solving the above problem.

Arrange them in sequential order.

(A) = 100S = C(100 + g)

(100 + g)C

100

(©) Given C — 100S
iven C' = 100 - g

(100 + 20) x 800
(D) .. S = 100 — 15960

(B) S =

A. ABCD


https://dl.doubtnut.com/l/_KnUOnEpB4uXo

B. BCAD

C. CADB

D. CABD

Answer: D

o Watch Video Solution

12. In the formulae S, = %{20, + (n — 1)d}
make d as the subject
The following steps are involved in solving the

above problem. Arrange them in sequential


https://dl.doubtnut.com/l/_KnUOnEpB4uXo
https://dl.doubtnut.com/l/_P4w2lX3DmRVt

order.

25,

n

(A) (n — 1)d = — 2a

(B) Given,

Sn = g[2a + (n — 1)d] = n[2a + (n — 1)d]

=25,
2
C) =d= [S” —a]
n—1[ n
(D)2a + (n — 1)d = 25"

A. DBAC

B. BDAC

C. ABDC

D. BDCA


https://dl.doubtnut.com/l/_P4w2lX3DmRVt

Answer: B

o Watch Video Solution

13. The compound interest on a certain sum is

100
C.l.when P = rs1000, R = 10 % P.a.,and n=2.

given by C. I. :P(l—l— i) — P. Find

The following steps are involved in solving the
above problem. Arrange them in sequential
order.

(A) -.C.1I. =rs210

(B) 1000 11 11 1000 = 1210 — 100
10 10 B



https://dl.doubtnut.com/l/_P4w2lX3DmRVt
https://dl.doubtnut.com/l/_z5LAOeIhkVWx

(C) Given

R n
Cl = P(l T W) — P, P = rs1000,

R=10% p.a., and n=2

10 \?
(D) C.I. =1000 -+ (1 + 1—00) — 1000

A. BCDA
B. DCBA
C. CDBA

D. BDCA

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_z5LAOeIhkVWx

14. The focal length of a less is given by the

1 1 1
formula — = — 4+ —. Make f as the subject

U v
of the formula.

if u = 20cm and v=30, then find f.

The following steps are involved in solving the
above problem. Arrange them in sequential

order.

, 1 1 1
(A) Given — = — + —
U v

f
uv
B —
B) = f ——
(C)f_20><30_600_12
~920+30 50 ™
1 vV + u
D) = — =

f uv


https://dl.doubtnut.com/l/_z5LAOeIhkVWx
https://dl.doubtnut.com/l/_ZrmrsmlR1F45

A. ADBC

B. BADC

C. ACDB

D. DBAC

Answer: A

° Watch Video Solution

15. Directions for questions : Match Column A

with Column B.


https://dl.doubtnut.com/l/_ZrmrsmlR1F45
https://dl.doubtnut.com/l/_sw07aNWvqhjf

Colamn A Column B
I15. Changing a term from {ah Sulyect
one wde of an equabon
to the other ude
1o, Coefhcemt of the swb- (b} Trairsgsomitsod
Ject of a formula
i7 Imoa formuela, o variabde et C=xd
which 1 expressed in
terms of other v =i
18, The corcumierence (05} {fj 1
of 3 corcle B X fimet s
hameter (4.

o Watch Video Solution

16. Directions for questions : Match Column A

with Column B.


https://dl.doubtnut.com/l/_sw07aNWvqhjf
https://dl.doubtnut.com/l/_bRHhhw6Lp6KQ

Column A Colomn B

19 A symbaol thar ocoun ia) Formula
alone on LHS of the
equahry

0. The symibohc form of (b Subject

"The sum of the angles
of A4BC w 1840

M. The vvmbobc form of ich P= 4B +
“Perumeter (™ of AABC B - AC
i the sum of s sades”

22, An equanon based on 3 dy £4 + 2B~
ule SO =18

° Watch Video Solution

Concept Application Level 2

1.1f A = 27r, then r=


https://dl.doubtnut.com/l/_bRHhhw6Lp6KQ
https://dl.doubtnut.com/l/_djNEPsDakVDZ

Answer: D

o Watch Video Solution

2.In A =2h(l+0b),if A= 54m?, |=5m, and

b=4m, then find h.



https://dl.doubtnut.com/l/_djNEPsDakVDZ
https://dl.doubtnut.com/l/_mdJllj4hhc75

A.6m

B.4m

C.3m

D.2m

Answer: C

o Watch Video Solution

3. If A = 2(lb+ bh + lh), then which of the

following is/are true?


https://dl.doubtnut.com/l/_mdJllj4hhc75
https://dl.doubtnut.com/l/_SjcBZ2r7YxHj

A 2bh
~ 2(b+h)
A -2ih
214 h)

A — 2lb

2(1 + b)

D. All of these

Answer: D

o Watch Video Solution

4. The length of an are of a circle is given by

T
360°

Make r as the subject of the formula.

X 27T,

the formulal =


https://dl.doubtnut.com/l/_SjcBZ2r7YxHj
https://dl.doubtnut.com/l/_NplH8gFm5Mve

720°
AT =—

[
180°1
B.r =
T
720°1
C.r =
T
180°1
D.r =
€T
Answer: B

o Watch Video Solution

5. Directions for questions : These questions
are based on the following information.

The length of an arc of a circle is given by the


https://dl.doubtnut.com/l/_NplH8gFm5Mve
https://dl.doubtnut.com/l/_kGTM9KcM2ua9

x
360°

If z = 60° and r = 3cm, then find [.

X 27T,

formulal =

A. 22 cm

B. 2 cm

C.mmcm

D.11 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_kGTM9KcM2ua9

6. Directions for questions : These questions
are based on the following information.

The length of an arc of a circle is given by the

x
360°

If | = 4mr cm and r = 18 cm, then find x.

X 27T,

formulal =

A.60°

B.90°

C.80°

D. 40°

Answer: D


https://dl.doubtnut.com/l/_BHYv3qdarnMC

° Watch Video Solution

7. The number of variables in the formula

S=ut+ at’ i
=u — IS .
2

A4
B.3
C.2

D. 1

Answer: A

| & I


https://dl.doubtnut.com/l/_BHYv3qdarnMC
https://dl.doubtnut.com/l/_ObIsFEcqsnCQ

| ¥ Watch Video Solution |

8. The number of all possible squares inn X n
network is equal to 1* + 2> + 3% + . ... + n?
. Find the number of possible squares in 7 X 7
network.

A. 103

B. 91

C.120

D. 140


https://dl.doubtnut.com/l/_ObIsFEcqsnCQ
https://dl.doubtnut.com/l/_jBTStspBBAAR

Answer: D

o Watch Video Solution

9. Write the relation between H and m from

the given table.

Mumber of hours (H) I 3 5 f. ]Hh
Number of punutes (m) 60 180 300 360 600

A.H=60m

B.m=60H

CH+m=1


https://dl.doubtnut.com/l/_jBTStspBBAAR
https://dl.doubtnut.com/l/_fNH8mQYsQYVP

D.m=30H

Answer: B

° Watch Video Solution

10. Simple interest on a certain sum is given by

I PTR
100

formula. Find T when P=rs1000, R=10% p.a., and

Make T as the subject of the

|=rs 300.

1001
AT = ——,6years
PR


https://dl.doubtnut.com/l/_fNH8mQYsQYVP
https://dl.doubtnut.com/l/_YshevSMfkPCW

1001

B.T = ——, 3 years
PR
100P

C.T = £,4years
IR
100R

D.T = i , 5 years

Answer: B

o Watch Video Solution

11. Directions for questions : Select the correct
answer from the given options.

If A=S?and A = 324cm?, then find the

value of S (in cm).


https://dl.doubtnut.com/l/_YshevSMfkPCW
https://dl.doubtnut.com/l/_7B0t5Otkzc3L

A. 162
B. (324)°
C.18

D. 16

Answer: C

o Watch Video Solution

12. In the formula ZA + /B + ZC = 180°, if

/A =90° and /B = 55°,then Z/C =


https://dl.doubtnut.com/l/_7B0t5Otkzc3L
https://dl.doubtnut.com/l/_Yci08IlJAD3a

A.45°

B.45°

C.25°

D.35°

Answer: D

° Watch Video Solution

13. Directions for questions : Select the correct

answer from the given options.


https://dl.doubtnut.com/l/_Yci08IlJAD3a
https://dl.doubtnut.com/l/_JkVvgPR778EC

d1d
2

then find the value of A (in cm?).

If A= ,d; = 6cm, and dy = 8cm,

A. 12

B.18

C.36

D. 24

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JkVvgPR778EC

14.1f A = 2h(l + b), then b=

A.2Ah — 1

(4)

C.2Al — h

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4qDhcmAClyDh

15. If S = (n —2)180° and S = 540°, then
find n.

A4

B.3

C.5

D.7

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_iGNrsXn3QPXC
https://dl.doubtnut.com/l/_czXwYnBZneqD

16. The sum of four angles of a quadrillateral is
360° from the following figure, express the
relation between x and y by making x as the

subject.

Ax =180° —y

B.y = 180° — z

C.z = 180° +y


https://dl.doubtnut.com/l/_czXwYnBZneqD

D.y = 180° + x

Answer: A

o Watch Video Solution

17.1f M = a + é,then b=
C

A Mc— a
B.M — ac
M —
c.( a)
C


https://dl.doubtnut.com/l/_czXwYnBZneqD
https://dl.doubtnut.com/l/_wUsrTjCn0fft

Answer: D

o Watch Video Solution

Concept Application Level 3

1. Select the correct answer from the given

options.

If V= Ilbh,then h =


https://dl.doubtnut.com/l/_wUsrTjCn0fft
https://dl.doubtnut.com/l/_e5fXmQ3KnjZ5

Answer: A

° Watch Video Solution

2.In A = s — (s — 2w)?, if w=1 m and s=6m,

then find A (inm2) )

A. 20

B.10


https://dl.doubtnut.com/l/_e5fXmQ3KnjZ5
https://dl.doubtnut.com/l/_twlyig1UCMY2

C.15

D. 16

Answer: A

° Watch Video Solution

3. Frame the formula: volume (v) of a cuboid is
the product of its length (l), breadth (b), and

height (h).

A.v = lbh


https://dl.doubtnut.com/l/_twlyig1UCMY2
https://dl.doubtnut.com/l/_oRqLbY0GUuXS

lb
Cv= —
h
D.v = h(l + b)
Answer: A

o Watch Video Solution

100 + g)C
4. If S = ( 1009) , then which of the

following is/ are true?

100S

A.C =
(100 + g)



https://dl.doubtnut.com/l/_oRqLbY0GUuXS
https://dl.doubtnut.com/l/_XGO7ZEPYPLfY

C. Both (a) and (b)

D. None of these

Answer: C

o Watch Video Solution

5. The number of auxiliary formulae that can

be derive from the formula

D [n(nz— 1)] L



https://dl.doubtnut.com/l/_XGO7ZEPYPLfY
https://dl.doubtnut.com/l/_YpGWk13S7VLU

Al

B.2

C.3

D. 4

Answer: A

° Watch Video Solution

6. The number of diagonals of a convex

. . n(n—3) _
polygon of sides n is equal to 5 . Find



https://dl.doubtnut.com/l/_YpGWk13S7VLU
https://dl.doubtnut.com/l/_cSZaEsxECRIS

the number of diagonals is hexagon.

A.9

B.6

C.10

D.8

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_cSZaEsxECRIS

7. Write the relation between x and y from the

given table.

x Nt OMF TR Mt WY 1P
y o 64T 56* 157 60" R0 WS

Ax=y—45°

B.x =y + 54°

Ce =90° —y

D.z +y = 100°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_NcDTV4yF2usp

8. Directions for questions : Select the correct
answer from the given options.

The area of four walls of room is given by
A = 2h(l 4+ b). Make [ as the subject of the
formula. Find [ when

A = 100m?, h = 5m, and b = 4m.

A
A
B.l:%—b 5m
A
C.lzz—b—h 4m
A
D.l = — — h,8m

2b


https://dl.doubtnut.com/l/_NcDTV4yF2usp
https://dl.doubtnut.com/l/_mZY1IZh7rGwA

Answer: A

o Watch Video Solution

d
9. If Aza(a—l—b), then which of the

following is/are true?

2A
a+b

24
B.a=|— ] —0b
¢ (d)

C. Both (a) and (b)

Ad =

D. None of these


https://dl.doubtnut.com/l/_mZY1IZh7rGwA
https://dl.doubtnut.com/l/_w1NiCHFx5h7Z

Answer: C

o Watch Video Solution

10. Express the relation between angles x and

y with x as the subject.

X 90" [ 1I0F 1M° (MPE (400
YT R0* TN ef S a0

Ay=180" —z

B.z = 180° — y

C.y=180° + x


https://dl.doubtnut.com/l/_w1NiCHFx5h7Z
https://dl.doubtnut.com/l/_mldP6aPXTdlt

D.z = 180° + vy

Answer: B

° Watch Video Solution

11. Directions for questions : Select the correct

answer from the given options.



https://dl.doubtnut.com/l/_mldP6aPXTdlt
https://dl.doubtnut.com/l/_KOYxbiRE6zSK

z(c+ d)

C.y=
4 a-+b
x(a + b
Dy — ( )
c+d
Answer: C

° Watch Video Solution

Assessment Tests Test 1

1. The focal length of a less is given by the

1 1 1
formula — = — 4+ —. Make f as the subject

f u v

of the formula.


https://dl.doubtnut.com/l/_KOYxbiRE6zSK
https://dl.doubtnut.com/l/_gNMduaDfmwSl

if u = 20cm and v=30, then find f.
The following steps are involved in solving the

above problem. Arrange them in sequential

order.
, 1 1 1
(A) Given — = — + —
f u v
uv
B —
(B) = f s
(C)f_20><30_600_12
~ 20+30 50 oM
1 v+ u
D A
©) = = =5
A. DBAC
B. DACB

C. DABC


https://dl.doubtnut.com/l/_gNMduaDfmwSl

D. DCBA

Answer: C

o Watch Video Solution

2.The sum of the digits of a two-digit number
is 11. if 9 is subtracted from the number, then
the digits interchagne their places. Find the
number. The following steps are involved in
solving the above problem. Arrange them in

sequential order


https://dl.doubtnut.com/l/_gNMduaDfmwSl
https://dl.doubtnut.com/l/_n4VUOyQYnHYD

(A) Let the units digit be x. therefore , the tens
digit is (11-x).

The number is
10(11 — z) + = 110 — 9z.
(B) Given that
110 -92 -9 =9z + 11 = =z = 5.
(C) Units digit is S and tens digit is 6 and the
required number is 65.
(D) The number formed by interchanging the

digits is 10z + (11 — ) = 9z + 11.

A. ADBC

B. ABDC


https://dl.doubtnut.com/l/_n4VUOyQYnHYD

C. ABCD

D. BADC

Answer: A

° Watch Video Solution

3.If A = ¢(a — b),then a

>
VR
o ok ok
N N NS
+ |
o>~ o~

@

N
R

|
o


https://dl.doubtnut.com/l/_n4VUOyQYnHYD
https://dl.doubtnut.com/l/_aUyCWtNAgh77

Answer: B

° Watch Video Solution

4. The sum of the interior angles in a 6-sided
polygon is 720° and the six angles are x,y,z,2,y.
and x. express the relation among x, y, and z by

making z as the subject.

Az=360°—x+y


https://dl.doubtnut.com/l/_aUyCWtNAgh77
https://dl.doubtnut.com/l/_ynXF6RZzjSzm

B.z2 =360° — (z + y)
C.z=2360° +z —y

D.z =360° +x + vy

Answer: B

o Watch Video Solution

5.If k = a + be, then c=



https://dl.doubtnut.com/l/_ynXF6RZzjSzm
https://dl.doubtnut.com/l/_VjdEtCua1BJN

Answer: C

° Watch Video Solution

6. If A:c(az—l—b2), then which of the

following is/are true?



https://dl.doubtnut.com/l/_VjdEtCua1BJN
https://dl.doubtnut.com/l/_D7TyTOf2F1eK

C. Both (a) and (b)

D. None of these

Answer: D

° Watch Video Solution

7. Express the relation between a and b with b

as the subject.

h 3 i . 12 | _1'|-l M)


https://dl.doubtnut.com/l/_D7TyTOf2F1eK
https://dl.doubtnut.com/l/_TVrljPTTx9p8

A b= 2a

B.b = 3a

C.b=(a+1)°

D.b =a(a+ 1)
Answer: D

o Watch Video Solution

8. If rry = a+b,theny=
z
(a +b)z
-



https://dl.doubtnut.com/l/_TVrljPTTx9p8
https://dl.doubtnut.com/l/_OCMiHgWfhHS2

Answer: A

o Watch Video Solution

9. One-fifth of a number is 5 more than one-

tenth of the number. Find the number

A. 50


https://dl.doubtnut.com/l/_OCMiHgWfhHS2
https://dl.doubtnut.com/l/_lXkGpOTGQUnY

B.75

C. 25

D. 100

Answer: A

o Watch Video Solution

10. If twice a number is added to half the
number, then the result is 250. Find one-tenth

of the number.


https://dl.doubtnut.com/l/_lXkGpOTGQUnY
https://dl.doubtnut.com/l/_ZSSGHxxpZ45K

A. 20

B.10

C.50

D. 25

Answer: B

o Watch Video Solution

11. Which of the following is a solution of

20 — 5 > 4x — 3?


https://dl.doubtnut.com/l/_ZSSGHxxpZ45K
https://dl.doubtnut.com/l/_0x3ZnEDBVH3W

A.O

B.1

Answer: D

o Watch Video Solution

12. Directions for questions : Match the

Column A with Column B.


https://dl.doubtnut.com/l/_0x3ZnEDBVH3W
https://dl.doubtnut.com/l/_iKiOrCAiHcJa

Colamn A

I r
12 If =-=— =11 -r then
5 10

F =
1y, W6 Tr+92+ 10T -
ihiwf = 108 — é, then =

L4 1f three-tifths of 4 cer-
tan number excend i
one-tourth by 7, then
the number » ;

15, The wiunon ol

T
———%dn
4 4

la) 3

by 14

€] 15

e} 25
i) Mo

° View Text Solution

Assessment Tests Test 2



https://dl.doubtnut.com/l/_iKiOrCAiHcJa

1. Make | as the subject of the formula
A=2(Ib+bh-+hl).
The following steps are involved in solving the
above problem Arrange them in sequential
order.

A. CBAD

B. CABD

C. CADB

D. ACDB

Answer: C


https://dl.doubtnut.com/l/_9SKcZl32RT9j

° Watch Video Solution

2. The sum of the digits of a two-digit number
is 12. if 18 is subtracted from the number, then
the digits interchange their places. Find the
number. The following steps are involved in
solving the above problem. Arrange them in
sequential order.

(A) Units digits is 5, tens digit is 7, and the
number is 75.

(B) Given that

120 - 92 — 18 =92 + 12 = 90 =18z = =z = 5


https://dl.doubtnut.com/l/_9SKcZl32RT9j
https://dl.doubtnut.com/l/_UXenj3aPp4R0

(C) The number formed by interchanging the
digits is 10z + (12 — ) = 9z + 12.

(D) Let the digit in the units place be x. Then
the digit in the tens place be (12 — x). ..
The number Is

10(12—z) + ¢ = 120 — 10z + = = 120 — 9z

A. ABCD
B. DCBA

C. DCBA


https://dl.doubtnut.com/l/_UXenj3aPp4R0

D. DABC

Answer: B

o Watch Video Solution

A 2Ah — 1
A
B.(— | — !
(a)
C.2AI — h


https://dl.doubtnut.com/l/_UXenj3aPp4R0
https://dl.doubtnut.com/l/_ngVYG728RBqb

Answer: B

o Watch Video Solution

4.Find the relation between angles x and y.

_‘ [ooe T i00e }ﬂl |1|-f-: 130° | 1400
Axr =1y
B.x +y = 180°
C.x — Yy = 200

D.z = 2y


https://dl.doubtnut.com/l/_ngVYG728RBqb
https://dl.doubtnut.com/l/_jzjECxHGlifo

Answer: B

o Watch Video Solution

5. Two-third of a number is 32 less than three-

fifth of the number. Find the number

A. 360
B. —480
C. —360

D. 480


https://dl.doubtnut.com/l/_jzjECxHGlifo
https://dl.doubtnut.com/l/_Dqa2fjQAyScx

Answer: B

o Watch Video Solution

6. If one third ofa number is subtracted from

three times the number, then the result is 800,

find the number.

A. 300

B. 400

C. 200

D. 600


https://dl.doubtnut.com/l/_Dqa2fjQAyScx
https://dl.doubtnut.com/l/_dnZezF6HukjN

Answer: A

o Watch Video Solution

7. Which of the following is a solution of

2r — 5 3z + 3

?
3~ 4
Axr= —5
B.x = — 2

C. Both (a) and (b)

D. Neither (a) nor (b)


https://dl.doubtnut.com/l/_dnZezF6HukjN
https://dl.doubtnut.com/l/_yEvC0j2vy6AD

Answer: D

o Watch Video Solution

8. Directions for questions : Match Column A

with Column B.

Column A Column B
23S e ey (1) 10
e 15 3
then x =
4. W15+ 25+ V5= ih) 20

T+ 45 then 1 =

35 W2/ ol a ceramn c} =5
number exceeds Ha
one-sxth by 10, then
the murmiber B
Y. I +5>25-x ve (dh 5
Athen v >
ey 15

(f) 25


https://dl.doubtnut.com/l/_yEvC0j2vy6AD
https://dl.doubtnut.com/l/_BqUFgKCpEOWR

o Watch Video Solution



https://dl.doubtnut.com/l/_BqUFgKCpEOWR

